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3 4 снизу В. В. Гольпух В. В. Голынух
6 2 снизу через низ воды... через них воды...

12 9 снизу В (0,9-1,0) Н, В« (0,9—1,0) Н,
36 4 сверху 

(2 графа 
шапки 

таблицы)

глины суглинки 
супеси пески 

(повторено 2 раза, 
всего 8 колонок)

Р

глины, суглинки 
супеси, пески 

(повторено 2 раза, 
всего 4 колонки)

Р
46 8 снизу /ф — п , /сР ~  п ’
48 3 снизу 

в 4-й колон­
ке слева

3340 3346

Зак. 4773. Тир. 2220. ВСН 34/XVII-78.

жакет схема

опечатки

http://www.kruzhevo-len.ru/vyazanye-kardigany-kruzhevnye-bluzki.html
http://files.stroyinf.ru/Index2/0/4294819/4294819244.htm

